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Mcqs

1. If  for what value(s) of x does

the graph of f(x) have a vertical asymptote?

f(x) =
x − 2

x2 − 4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_DLP0Yho1R52j


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−2, 0, and 2

−2 and 2

2

−2

2. What is the distance between the points

with coordinates ?( − 3, 4, 1) and (2, 7, − 4)

https://dl.doubtnut.com/l/_DLP0Yho1R52j
https://dl.doubtnut.com/l/_DTWljIoAmFEI


A. 5.24

B. 7.68

C. 11.45

D. 13

Answer: B

Watch Video Solution

3. 

A. 

log(a2 − b2) =

loga2 − log b2

https://dl.doubtnut.com/l/_DTWljIoAmFEI
https://dl.doubtnut.com/l/_1C0phR59dpUa


B. 

C. 

D. 

Answer: D

Watch Video Solution

log
a2

b2

log
a + b

a − b

log(a + b) + log(a − b)

4. The domain of the function

 is

A. 

f(x) = 4 − √x2 − 9

x < − 3

https://dl.doubtnut.com/l/_1C0phR59dpUa
https://dl.doubtnut.com/l/_zotUrVTm0mc0


B. 

C. 

D.  or 

Answer: D

Watch Video Solution

x > 0

x > 3

x ≤ − 3 x ≥ 3

5. If graph of  is perpendicular

to the graph of , then a

equals

x + 2y + 3 = 0

ax + 3y + 2 = 0

https://dl.doubtnut.com/l/_zotUrVTm0mc0
https://dl.doubtnut.com/l/_93qoAcmEOCZK


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−6

−
3

2

2

3

3

2

6. The maximum value of 6 sin x cos x is

A. 
1

3

https://dl.doubtnut.com/l/_93qoAcmEOCZK
https://dl.doubtnut.com/l/_yD6gqyGxEjYt


B. 

C. 2.6

D. 3

Answer: D

Watch Video Solution

1

7. If  then =

A. 

B. 

f(r, θ) = r cos θ, f(2, 3)

−3.00

−1.98

https://dl.doubtnut.com/l/_yD6gqyGxEjYt
https://dl.doubtnut.com/l/_iXIeXnvLStMS


C. 

D. 

Answer: B

Watch Video Solution

0.10

1.25

8. If 5 and -1 are both zeros of the polymonial

P(x), then a factor of P(x) is

A. 

B. 

x2 − 5

x2 − 4x + 5

https://dl.doubtnut.com/l/_iXIeXnvLStMS
https://dl.doubtnut.com/l/_eQ1E30xwXpBn


C. 

D. 

Answer: D

Watch Video Solution

x2 + 4x − 5

x2 − 4x − 5

9. 

A. 0

B. 1

C. 2i

i14 + i15 + i16 + i17 =

https://dl.doubtnut.com/l/_eQ1E30xwXpBn
https://dl.doubtnut.com/l/_6cf6mJF2gOIL


D. 1-i

Answer: A

Watch Video Solution

10. The graph of  for x between 

and  crosses the x-axis

A. zero times

B. one time

C. two times

y = sin 2x 10∘

350∘

https://dl.doubtnut.com/l/_6cf6mJF2gOIL
https://dl.doubtnut.com/l/_kjyECqynzHeP


D. three times

Answer: D

Watch Video Solution

11. The third term of ann arithmetic sequence

is 15, and the seventh term is 23. what is the

first term?

A. 1

B. 6

https://dl.doubtnut.com/l/_kjyECqynzHeP
https://dl.doubtnut.com/l/_rBh7atQXfuEy


C. 9

D. 11

Answer: D

Watch Video Solution

12. A particular sphere has the property that

its surface area has the samme numerical

value as its volume. What is the length of the

radius of this sphere?

https://dl.doubtnut.com/l/_rBh7atQXfuEy
https://dl.doubtnut.com/l/_oD8G8ppmyY2K


A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

13. =

A. 

+
1

a

1

b

1

ab

https://dl.doubtnut.com/l/_oD8G8ppmyY2K
https://dl.doubtnut.com/l/_3yxeMdr9NCeZ


B. 

C. 

D. 

Answer: D

Watch Video Solution

1

a + b

2

a + b

a + b

ab

14. The pendulum on a clock swings through

an angle of 1 radian, and the tip sweeps out

ann arc of 12 inches. How long is the

pendulum?

https://dl.doubtnut.com/l/_3yxeMdr9NCeZ
https://dl.doubtnut.com/l/_NZWQdudO0Hza


A. 3.8 inches

B. 6 inches

C. 7.6 inches

D. 12 inches

Answer: D

Watch Video Solution

15. What is the domain of the function 

?f(x) = 4 − √3x3 − 7

https://dl.doubtnut.com/l/_NZWQdudO0Hza
https://dl.doubtnut.com/l/_GnCseZSKJmo2


A. 

B. 

C. 

D.  or 

Answer: A

Watch Video Solution

x ≥ 1.33

x ≥ 1.53

x ≥ 2.33

x ≤ − 1.33 x ≥ 1.33

16. If , which of the following must

be true?

x + y = 90∘

https://dl.doubtnut.com/l/_GnCseZSKJmo2
https://dl.doubtnut.com/l/_dEQKuvO4Rf9T


A. cosx=cosy

B. sin x=-sin y

C. tan x=cot y

D. sin x+cos y=1

Answer: C

Watch Video Solution

17. The graph of the equation

y = x3 + 5x + 1

https://dl.doubtnut.com/l/_dEQKuvO4Rf9T
https://dl.doubtnut.com/l/_L779F5U82GqM


A. Does not intersect the x-axis

B. intersects the x-axis at one and only one

point

C. intersects the x-axis at exactly three

points

D. intersects the x-axis at more than three

points.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_L779F5U82GqM
https://dl.doubtnut.com/l/_MrzW7RlORRsm


18. The length of the radius of the sphere 

 is

A. 3.16

B. 3.38

C. 3.46

D. 3.87

Answer: D

Watch Video Solution

x2 + y2 + z2 + 2x − 4y = 10

https://dl.doubtnut.com/l/_MrzW7RlORRsm


19.  


The graph of 

is shown above with the window shown below

iit. Which of the following values could be c?

y = x4 + 11x3 + 9x2 − 97x + c

https://dl.doubtnut.com/l/_mwZNFt4wKbqB


A. 

B. 

C. 80

D. 250

Answer: C

Watch Video Solution

−2.820

−80

20. Which of the following is the solution set

for ?x(x − 3)(x + 2) > 0

https://dl.doubtnut.com/l/_mwZNFt4wKbqB
https://dl.doubtnut.com/l/_kfzwWwOPgSuL


A. 

B. 

C.  or 

D.  or 

Answer: D

Watch Video Solution

x < − 2

−2 < x < 3

−2 < x < 3 x > 3

−2 < x < 0 x > 3

21. Which of the following is the equation of

the circle that has its center at the origin and

https://dl.doubtnut.com/l/_kfzwWwOPgSuL
https://dl.doubtnut.com/l/_AJi0VgUOB8Yf


is tangent to the line with equation

?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x − 4y = 10

x2 + y2 = 2

x2 + y2 = 3

x2 + y2 = 4

x2 + y2 = 5

https://dl.doubtnut.com/l/_AJi0VgUOB8Yf


22. If , then 

=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = 3 − 2x + x2

( )
f(x + t) − f(x)

t

t2 + 2xt − 2t

x2t2 − 2xt + 3

t + 2x − 2

2x − 2

https://dl.doubtnut.com/l/_LsZ3oVnxeqQ0
https://dl.doubtnut.com/l/_IiMwqHoDGUfP


23. If , which of

the following is an odd functionn (are odd

functions)? 

I.  


II.  


III. 

A. Only I

B. only II

C. only III

D. Only II and III

f(x) = x3 and g(x) = x2 + 1

f(x) ⋅ g(x)

f(g(x))

g(f(x))

https://dl.doubtnut.com/l/_IiMwqHoDGUfP


Answer: A

Watch Video Solution

24. In how many ways can a committee of four

be selected from nine so as to always include a

particular man?

A. 48

B. 56

C. 70

D. 126

https://dl.doubtnut.com/l/_IiMwqHoDGUfP
https://dl.doubtnut.com/l/_orhy5sLlBtI5


Answer: B

Watch Video Solution

25.  


The figure above shows a portion of the graph

of . What is the sum of the areas of the

three inscribed rectangles shown?

y = 2x

https://dl.doubtnut.com/l/_orhy5sLlBtI5
https://dl.doubtnut.com/l/_jnfF7rPTccC5


A. 14

B. 28

C. 128

D. 256

Answer: A

Watch Video Solution

26. If the mean of the set of data 1,2,3,1,2,5,x is

, what is the value of x?3. ¯̄̄¯27

https://dl.doubtnut.com/l/_jnfF7rPTccC5
https://dl.doubtnut.com/l/_hA0fmEcsN2hA


A. 

B. 2.5

C. 5.6

D. 8.9

Answer: D

Watch Video Solution

−10.7

27. In

inches, the length of KL, is inches, is

△ JKL, sinL = , sinJ = , and JK = √5
1

3

3

5

https://dl.doubtnut.com/l/_hA0fmEcsN2hA
https://dl.doubtnut.com/l/_F7KlSD0RDbvU


A. 1.7

B. 

C. 3.5

D. 

Answer: D

Watch Video Solution

3.0

4.0

28. Matrix X has r rows and c columns, and

matrix Y has c rows and d columns, where r, c

and d are different. Which of the follwing

https://dl.doubtnut.com/l/_F7KlSD0RDbvU
https://dl.doubtnut.com/l/_acSbDZg0C04q


statements must be true? 

I. The product YX exists. 

II. The product of XY exists and has r rows and

d columns. 

III. the product XY exists and has c rows and c

columns.

A. I only

B. II only

C. III only

D. I and II

Answer: B

https://dl.doubtnut.com/l/_acSbDZg0C04q


Watch Video Solution

29. Which of the following statements is

logically equivalent to: "If he studies, he will

pass the course."?

A. He passed the course, therefore, he

studied.

B. He did not study, therefore, he will not

pass the course.

https://dl.doubtnut.com/l/_acSbDZg0C04q
https://dl.doubtnut.com/l/_HXk6yYdBcfvP


C. He did not pass the course, therefore he

did not study.

D. He will pass the course only if he studies.

Answer: C

Watch Video Solution

30. If , what is

the domain of ?

A. 

f(x) = x − 7 and g(x) = √x

g ∘ f

x ≤ 0

https://dl.doubtnut.com/l/_HXk6yYdBcfvP
https://dl.doubtnut.com/l/_XNbp3gBYxh5G


B. 

C. 

D. 

Answer: D

Watch Video Solution

x ≥ − 7

x ≥ 0

x ≥ 7

31. In

. The

length of c is

△ ABC, a = 1, b = 4, and ∠C = 30∘

https://dl.doubtnut.com/l/_XNbp3gBYxh5G
https://dl.doubtnut.com/l/_VwLT7HOSnRpA


A. 4.6

B. 3.6

C. 3.2

D. 2.9

Answer: C

Watch Video Solution

32. The solution set of 3x+4y  lies in which

quadrants?

< 0

https://dl.doubtnut.com/l/_VwLT7HOSnRpA
https://dl.doubtnut.com/l/_0UDn9GcmXbVl


A. I only

B. I and II

C. I,II, and III

D. II,III, and IV

Answer: D

Watch Video Solution

33.  

Which of the following could represent the

inverse of the function graphed above?

https://dl.doubtnut.com/l/_0UDn9GcmXbVl
https://dl.doubtnut.com/l/_esAQNHLgdkeV


A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_esAQNHLgdkeV


Answer: D

View Text Solution

34. If f is a linear function and

,

what is the value of x?

A. 

B. 

C. 

D. 

f( − 2) = 11, f(5) = − 2, and f(x) = 4.3

−3.1

−1.9

1.6

2.9

https://dl.doubtnut.com/l/_esAQNHLgdkeV
https://dl.doubtnut.com/l/_uD089LYWwMVX


Answer: C

Watch Video Solution

35. A taxicab company wanted to determine

the fuel cost of its fleet. A sample of 30

vehicles was selected, an the fuel cost for the

last mooth was tabulated for each vehicle.

Later it was discovered that the highest

amount was mistakenly recorded with an extra

zero, so it was 10 times to actual amount.

when the correction was made, this was still

https://dl.doubtnut.com/l/_uD089LYWwMVX
https://dl.doubtnut.com/l/_FBs84rfrhkwt


the highest amount. which of the following

must have remained the same after the

correction was made?

A. Mean

B. Median

C. Mode

D. Range

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_FBs84rfrhkwt
https://dl.doubtnut.com/l/_vcNhMAGxQ3cV


36. The range of the function  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = x− 2 / 3

y < 0

y > 0

y ≥ 0

y ≤ 0

https://dl.doubtnut.com/l/_vcNhMAGxQ3cV


37. The formula  gives the amount

A that a savings account will be worth if an

initial investment P is compounded at an

annual rate of 4 percent for t years. Under

these conditions, how many years will it take

an initial investment of $10,000 to be worth

approximately $25,000?

A. 1.9

B. 2.5

C. 9.9

D. 22.9

A = Pe0.04t

https://dl.doubtnut.com/l/_EjPP5lrnnSmB


Answer: D

Watch Video Solution

38. A coin is tossed three times. Given that at

least one head appears, what is the probability

that exactly two heads will appear?

A. 

B. 

C. 

D. 

3

8

3

7

5

8

3

4

https://dl.doubtnut.com/l/_EjPP5lrnnSmB
https://dl.doubtnut.com/l/_UhQZUdaQlGZ4


Answer: B

Watch Video Solution

39. A unit vector parallel to vector

 is vector

A. 

B. 

C. 

D. 

→
V = (2, − 3, 6)

( − 2, 3, − 6)

(6, − 3, 2)

( − 0.29, 0.43, − 0.86)

(0.29, 0.43, − 0.86)

https://dl.doubtnut.com/l/_UhQZUdaQlGZ4
https://dl.doubtnut.com/l/_JXjyvvzyftMU


Answer: C

Watch Video Solution

40. What is the equation of the horizontal

asymptote of the function

?

A. 

B. 

C. 

f(x) =
(2x − 1)(x + 3)

(x + 3)2

y = − 9

y = − 3

y = 0

https://dl.doubtnut.com/l/_JXjyvvzyftMU
https://dl.doubtnut.com/l/_9wIJ6rp1tGUa


D. `y=2'

Answer: D

Watch Video Solution

41. The points in the rectangular coordinate

plane are transformed in such a way that each

point A(x,y) is moved to a point . If

the distance between a point A and the origin

is d, then the distance between the origin and

thhe point A' is

A' (kx, ky)

https://dl.doubtnut.com/l/_9wIJ6rp1tGUa
https://dl.doubtnut.com/l/_UzKofGYiv6gV


A. 

B. 

C. 

D. kd

Answer: D

Watch Video Solution

k

d

d

k

d

42. A committee of 5 people is to be selected

from 6 men and 9 women. If the selection is

made randomly, what is the probability that

https://dl.doubtnut.com/l/_UzKofGYiv6gV
https://dl.doubtnut.com/l/_701ZNBHJGUCo


the committee consists of 3 men and 2

woman?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1

9

240
1, 001

1

3

1, 260

3, 003

https://dl.doubtnut.com/l/_701ZNBHJGUCo


43. Three consecutive terms, in order, of an

arithmetic sequence are

. Then x

equals

A. 2.14

B. 2.45

C. 2.46

D. 3.24

Answer: A

Watch Video Solution

x + √2, 2x + √3, and 5x − √5

https://dl.doubtnut.com/l/_VgEAoKqWY4dy


44. The graph of  can

be expressed as a set of parametic. If

 and  then f(t)=

A. 

B. 

C. 

D. 

Answer: B

W h Vid S l i

xy − 4x − 2y − 4 = 0

y =
4t

t − 3
x = f(t),

t + 1

t − 1

3t − 3

t − 3

4t

https://dl.doubtnut.com/l/_VgEAoKqWY4dy
https://dl.doubtnut.com/l/_BqtTElSS9Tmp


Watch Video Solution

45. If , how must a and

b be related so that the graph of  will

be symmetric about the y-axis?

A. a=b

B. b=0, a is any real number

C. b=3a

D. b=6a

Answer: D

f(9x) = ax2 + bx + c

f(x − 3)

https://dl.doubtnut.com/l/_BqtTElSS9Tmp
https://dl.doubtnut.com/l/_jcBOwnu4Ilqn


View Text Solution

46. The graph of y=

intersect at a point where x equals

A. 6.24

B. 5.44

C. 1.69

D. 1.14

Answer: A

Watch Video Solution

log5 x and y = ln 0.5x

https://dl.doubtnut.com/l/_jcBOwnu4Ilqn
https://dl.doubtnut.com/l/_oj63faQloREP


47. What is the value of x if  and 

?

A. 3.399

B. 6.625

C. 4.515

D. 4.623

Answer: C

Watch Video Solution

π ≤ x ≤
3π

2

sinx = 5 cos x

https://dl.doubtnut.com/l/_oj63faQloREP
https://dl.doubtnut.com/l/_mzlEvmpHktYC


48. The area of thee region enclosed by the

graph of the polar curve 

and the x- and y-axis is

A. 0.48

B. 0.5

C. 0.52

D. 0.98

Answer: B

Watch Video Solution

r =
1

sin θ + cos θ

https://dl.doubtnut.com/l/_ZCEx0Z2yoZWY


49. A rectangular box has dimensions of

length=6, width=4, and height=5. the measure

of the angle formed by a diagonal of the box

with the base of the box is

A. 

B. 

C. 

D. 

Answer: B

27∘

35∘

40∘

44∘

https://dl.doubtnut.com/l/_ZCEx0Z2yoZWY
https://dl.doubtnut.com/l/_gJ54pwNnrAF5


Watch Video Solution

50. If (x,y) represents a point on the the graph

of , which of the following could be

a portion of the graph of the set of points

?

A. 

B. 

y = 2x + 1

(x, y2)

https://dl.doubtnut.com/l/_gJ54pwNnrAF5
https://dl.doubtnut.com/l/_9Qp0CHJORbZz


C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_9Qp0CHJORbZz

